
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

5, 438 × ________ = 54.38 7, 989 × ________ = 7989

8, 893 × ________ = 88.93 8, 051 × ________ = 80.51

1, 582 × ________ = 158.2 1, 08 × ________ = 10.8

4, 7 × ________ = 47 9, 558 × ________ = 955.8

1, 756 × ________ = 17.56 1, 242 × ________ = 1242

6, 054 × ________ = 6054 6, 416 × ________ = 6416

1, 597 × ________ = 15.97 9, 504 × ________ = 9504

5, 959 × ________ = 595.9 1, 686 × ________ = 168.6

1, 081 × ________ = 10.81 10, 358 × ________ = 103.58

2, 011 × ________ = 2011 3, 733 × ________ = 373.3

www.snowmath.com

https://www.snowmath.com


Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

5, 438 × 10 = 54.38 7, 989 × 1000 = 7989

8, 893 × 10 = 88.93 8, 051 × 10 = 80.51

1, 582 × 100 = 158.2 1, 08 × 10 = 10.8

4, 7 × 10 = 47 9, 558 × 100 = 955.8

1, 756 × 10 = 17.56 1, 242 × 1000 = 1242

6, 054 × 1000 = 6054 6, 416 × 1000 = 6416

1, 597 × 10 = 15.97 9, 504 × 1000 = 9504

5, 959 × 100 = 595.9 1, 686 × 100 = 168.6

1, 081 × 10 = 10.81 10, 358 × 10 = 103.58

2, 011 × 1000 = 2011 3, 733 × 100 = 373.3
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